(HER)

HER WIS e ERIEIRE (R5. 4~3)

A |B |xEE[IRALLE [ZXHEE B BERH | BRES AE iEZ

4] 4 1 4,400 -4400[AEHE| 1 EHE EYEPIEFS S ICEED) lEEEL(Wa)

4] 4 2 51,700 -56,100[s@= M| SHIRIZE JE—#—X(4A %) FlEEEL(I)

4] 20 2,400,000 2,343,900 [mzns | IS EEE B EEHE (4~98 %)

4|24 3 4,900 2,339,000(:R%EHE| /RNEBAE |HARFHEUED)

4] 26 4 4,400| 2,334,600[sA=HE| TRHEEAEZ [#HFEFEUARR)

4] 27 5 2,903] 2331,697[Az®%E| 7THEBAZE ([ZHEQUV AL MFIEL. %l ZeLEAKUAD)
4] 28 6 81,200 2,250,497 |5E®H%E | ersnaeasr[f5 WA R)

4] 28 7 16,592] 2,233,905[sA%#%| SHIRIZE JE—HKRUASR)

5| 8 8 51,700 2,182,205|58& /3| SENRMIE JE—#)—X(GASR) lEFEEL(Ya-)

5] 8 9 4400 2.177805|s=EmR|11EHEE Nyav)—RE GAR) glEEEL(JO—)

5] 15 10 2903] 2,174902[:Az®%E| 7HEBAE [[ZHEQUAE]. [Fif] $ZFl EEEBAREAGASR)
5|22 11 4,900 2,170,002(R=HE| /RNEBAE |HABRFHEGAS)

5| 24 12 1,200 2,168,802[sA=#E| 1AEMEE |HHESME #HEH(14)

5] 24 13 820 2,167,982[:=mE| 2HIERE #HE™ BHE( %)

5] 29 14 5016] 2,162,966|5&wE| SEBIEE A 3—yMERB (AR D)  [BIEZEEL(RAOL)

5] 29 15 4,400 2,158,566[A=HME| TREBEAE |HEFBGAR)

5] 30 16 19,098] 2,139,468|AEMZz| SHIRIE JE—RKRGAR)

5] 31 17 93,200 2046,268|FEME | verznaraes (5 GAR)

6] 5 18 51,700 1,994568|58&#3| SENRIE JE—#1)—X(6B8%) lEFEEL(Ya-)

6] 5 19 4400]  1,990,168|:A&EHE[11FEHE VY EPI RS AR lEZEEL(Ya-)

6] 8 20 6,090 1,984,078|mmmzun| SRGELE |[d/IhEHLH— mRBH=(6ATRH)

6/ 12 21 2,903 1,981,175|sEHME| TRIEBAE |((xkouvsEl. el rasessl. [[BE]. ESEBBREGAR)
6] 22 22 4,900 1,976,275R=ME| TREBAE |HABREHE(68H)

6] 26 23 56,440| 1,919,835z E| 1FAEWMEE |BHESME LT (44)

6] 26 24 158,160 1,761,675|5a=mz| 2HRRE i LT HHE(44)

6| 27 25 5016 1,756,659|5A&®%| SBEE A3—2yMERE GAR) |5IEEEL(RAOL)

6] 27 26 4,400] 1,752,259|sA=HE| TREBEAE (#PEHE(6AR)

6| 28 27 34,443 1,717816|5A&#%| SEIRIE JE—RG6ASR)

6] 29 28 111,200( 1,606,616|sAz % [0 rsnaEner |85 (6B )

6] 29 29 85,400 1521216|AEM%|osrsnaEREs | 25—HBE

7l 3 30 5,400 1,515816|5a&f%E [srsmaEnsr |85 (6B )

7] 3 31 9,400 1506416|AEME|osrznaEnes 25 —HBE

7] 4 32 4,400 1502016[s@=mE|11EHE Ny )—ZRETAR) lEFEEL(Ya-)

7] 4 33 51,700 1,450,316|sA&#%| SENRIE JE—#—X(TA%) FlEEEL(I)

7] 10 34 36,440 1,413,876|5aamE| 1:ABEWHEE (HHiESNE ZOOM+=+—(3%4)

7113 35 2,268] 1,411,608|:a=mz| SBEE FEEEFUHS—b 2751

7] 20 36 6,000] 1,405608[3Az/%| 7HMEBALE BT HE (2023445 ~2024%35)

7] 21 37 2,903 1402705\ EME| TRIEBAE |((xkouvsl el ramessl. [[BE]. ESEBRAEATAR)
7] 24 38 154,800 1,247,905|58%wze| 2HRRE HARX Sl HHE (34)

7|25 39 4,800 1,243,105[;R=wHME| /REBAE | HABRFHEESATTES)

7] 26 40 5900| 12372055 7TRIZEAE |scomemiobmmE Foslbhsbsa, | nmomntonnmme. 724000 REHESE
7|27 41 5016] 1,232189|a=m%| SBEIEE A3—2yMERE 6ARD) |5IEZEEL(RAOL)

7] 28 42 25626] 1,206,563[sA& M| SERIE JE—RKRGTAEH)

7] 31 43 4,700| 1,201,863|5A=ME| 7TREEAE |HEHFESHTTAES)

7] 31 44 89,600 1,112,263|5&®%E | varsnaemsr[f5 TAR)

8] 3 45 16,740]  1,095523[s@E#M R [oskznaEmes N5 TAS)

8| 4 46 51,700 1,043,823|58&/%| SENRIE JE—#)—X(BAHR) lEFEEL(Ya-)

8| 4 47 4400] 1,039 423|sAEHE[11EHE Y EPI RS G EN) lEELEL(Ya-)

8| 7 49 A 12000 1051423[;=HE| 2HERE HELSMIZESIRERE

8] 7 50 308,220 743,203 |:A=H%E| 6/LHRE A=21—X (FIRIft 25,0008%) [(FI=1—X208%&)

8| 10 51 2,903 740,300[@EME| TREBAE [Ixtovs), ransl. ranamses), [BF]. E2LEERKGAY)
8] 21 6 740,306[FIE  [FIE

8| 21 52 17,275 723,031 |@=ME| 1AEHEE (HHESNE ZOOMES+—(14)

8| 23 53 4,800 718,231 |sAzHE| TRHEREAZ |HAZEZHESHTBAESY)

8| 28 54 15,722 702,509 |58 &= ®ze| SEIRIZE aE—RGAH)

8| 28 55 5,016 697,493|AEHR| SEIEE A3—2yMERE A SD) |BIEEEL(RAOL)

8| 28 56 4,700 692,793[AzHME| TREBAE |[HEFBEEHTIGAESR)

8] 31 57 9,000 683,793 | % vanrzwaersR |5 BA D)

8] 31 58 93,200 590,593 |AEHE [ rsmaEREr |5 BAR)

9] 4 59 4,400 586,193 |AEHR (11 FEHE Y EPI RS ACIEEN) lEZEEL(Ya-)

9] 4 60 51,700 534,493[:A= % | SEIRIE JE—#—X9AHR) 5lEFEEL(Ya-)

9[13 61 2,903 5315908z #%| TREBAE [Ixtova). (sl rammes), [BEF] BELEARKO0AD)
9] 25 62 4,800 526,790:Az#%| TREBAE |HABREHESETIOAD)

9] 27 63 5,016 521,774|AEHR| SEIEE A3—2yMERKE (BAR) |BIEEELEL(RAOL)

9| 28 64 95,600 426,174[RAEHE [o2rzswaERER |85 A D)

9] 28 65 44,517 381,657|sA=R| SEIRIE JE—ROASR)

10| 3 66 4,700 376,957 [AzHME| TREBAE |[HEHFBEEHTIOAR)

10| 27 67 5,016 371,941 [A=H%E| SEEE A3—2yMERE VA RD) |5IEELEL(RAOL)

10| 4 69 4400 A 4400|AE=HE| 1EHE XYV —ZRE (0B H) 5lEFEEL(Ya-)

10] 4 70 51,700] A 56,100|5A&#%| SENRIZE JE—#)—X(10A%) lEZEEL(Ya-)

10[ 23 71 4,800 A 60,900A=HME| 7TREBALE |HARZFHESHTIG0ASR)

10/ 20 2,400,000 2,339,100 |mzns | BISEEE BISEEE (10~38%)

10| 24 72 16,687] 2,322413|A=#%| SHRIE JE—RKU0AR)

10/ 26 73 4700| 2317,713|5A=HE| 7TRNEEAE |HFPHBEHT (08 S)

10] 26 74 3503 2314210(samE| 7TRIZEEAE [r=xttouvsE). res). raseees). [[BE]. BSEBARKU0ASR)
10[ 30 75 87,200 2227010|5AE®M%E verznaraes (5 (10AH)

10[ 30 76 31,600 2,195410|5A&®%E | oarsnaemer (5 (108 %)

1] 6 77 4400 2191010|sE=Emz] 11EHEE Nya )R 11AH) glEEEL(JO—)




(HER)

A |B |ZHEE[IRALLE [ZTHEEE [ES BERHS | BRES AE E=
11] 6 78 51,700 2,139,310|sA&#%| SENRIE JE—#)—X(11AH) lEZELEL(Ya-)
1113 79 311,520] 1,827,790[sA&m%| 6ILIRE H=2—X (EARI{L 25,0004 |[(FI=21—X2095)
1120 80 2,500| 1,825290(sA=mFE| 1FAEWMIEE  |EEnSisl FIYLE v FIRK—YIC T BEES
11] 22 81 4,800 1,820490A=HE| /REBAE | HAREZFHESHTG1AS)
11] 27 82 50,998 1,769,492z m%| 7TRIEBAE [ MEREREE 50 & (453-469) |75 B B RA{R 75 55 4 (286-290)
11] 27 83 2903] 1,766,589 [:A=®%E| 7HEBAE |([ZHQUAIE]L [Fifl. %l BZxLB8BA01AS)
11] 27 84 28,991 1,737,598|sA&#%| SENRIE JE—RU1AR)
11] 27 85 5016] 1,732582[A=®M%E| SHEEE A A—yMERRB (108 5) [BIEHEL(RAOL)
11] 29 86 4,700| 1,727,882|5A=wE| 7TREEAE |HPEHFESHT1ASS)
11] 30 87 90,800 1,637,082|5A&®%E |oarsnaeAsr[ 5 (11AS)
12| 4 88 51,700 1,585,382|sA&#%| SENRIZE JE—#)—X (128 %) FlEEREL(I)
12| 4 89 4,400 1,580,982A=#E| 11EHE VAV —RE (128 H) 5lEFEEL(Ya-)
12| 7 90 4800| 1576,182|5A=HE| 7TREBEAE |SFAHE2023F5~12H A ELBRRRE20235F5~12H
12| 8 91 20,914 1,555,268|5AE % s rsnaEReEn | RE—HBE
12] 8 92 185,866 1,369,402|AE#E [0 rzmaEnes (£ —HE
12| 25 93 4,800 1,364,602A=ME| 7TREBAE |HAREZIHESHTIG28S)
12|25 94 2,903] 1,361,699[sAz®%E| 7HEBAZE [[ZHEQUV AL MFIEL. %) BELEAK02A )
12[ 27 95 5016] 1,356,683|s&we| SBIEE A 3—yMERB (1A 5) [BIEEEL(RAOL)
12] 27 96 25225| 1,331,458|sA= | SENRIZ JE—RU28%)
12| 27 97 4,700 1,326,758 A=ME| TREBALE |[HEFEEATI(G28S)
12] 28 98 8,400 1,318,358|saE#iR o rzmarEmer ([R5 (12A %)
12] 28 99 92,900 1,225458|5E®H%E | oarsnaeaer (5 (128 %)
1l 4 100 51,700 1,173,758|sA&#%| SENRIZE JE—#—XUA%) FlEEEL(I)
1] 4 101 4400 1,169,358|sA=HE| 11EHE VAV —ZREUASR) 5lEFEEL(Ya-)
110 102 7222 1,162,136|5AEHE| TRIEBAE |[HIRAFRH 202344 F ~2024% 3 H
118 103 3,080 1,159,056|saE®mE| 7TRIEBAE [WITEANE
118 104 3,500 1,155556|5EmE| TRIZEBAEZ [fIE0boFEL
1] 24 105 4,800 1,150,756[A=®M%E| /REBAE |HABREHFESETIOAS)
1] 26 106 4,700| 1,146,056|3A=HE| 7TREEAE |HPEHFESHTOAES)
1] 26 107 2903] 1,143,153[:Azm%E| 7/HEBAE [[ZHQUAE] MEifl. MEFl. ZsL8ARAKA0AD)
1] 29 108 5016 1,138,137|sA&#%| SBEE A3—2yMERKE (1289) |5IEEEL(RA4OL)
1] 30 109 26,772 1,111,365|58& 83| SENRIE JE—RUAH)
2| 1 110 21,600] 1,089,765 E oarznaersa |50 A D)
2] 1 111 70,400 1,019,3655AE % osrsnaemsr [R5 (1A %)
2] 5 112 4400 1,014965|s=mz] 11EHEE Nyav)—REQAR) glEEEL(JO—)
2] 5 113 51,700 963,265|5A=E| SENRIZE JE—#—X2A%) lEFEEL(Ya-)
2] 14 114 7,699 955,566 |AEME| THERAL | KEIFEEREH (291-294)
2] 14 115 265,320 690,246 |sAEFHE| 6ILIRE M=—1—X (FIRI#12,0004%) [(2108)
2] 19 6 690,252|FIE  [FIR
2] 19 116 3,089 687,163[AZHM%E| TREBAE |[[ZHQUVAIL]. [HIE], &) ZaLB8AKCAY)
2] 19 117 3,000 684,163 |mzmzun| SEFE LR [P EEEF— mRBHKE (2H24H)
2|22 118 4,800 679,363[AzM%E| TREBAE |HABRZHESETICAER)
2|27 119 5,016 674,347|AEHR| SEIEE A3—2yMERE U ARD) |5IEEEL(RAOL)
2| 28 120 4,700 669,647:AzHM%E| TREBAE |[HEHFBEEHTICAESR)
2] 29 121 85,700 583,947 |:A=H % varzwaeRsR |5 QA D)
3] 1 122 39,259 544,688|5A= %L | SENRIZE JE—RKRQCAEH)
3 4 123 16,775 527.913|F&EwME| /MNEBAZE |[[EEEMBERR 20235E HEE~XF
3| 4 124 4,400 523,513|AEM%E| 11EHE XYV —RE BASR) lEZEEL(Ya-)
3| 4 125 51,700 471,813|;@EMR| SHRIE JE—#)—XBASR) FlEEEL(I)
3] 11 126 4,003 467,810[5A=HE| 7TREBAE [[ZHEQUVAIL]. [, $ZxFl. EEEBARKGASR)
3] 14 127 4934 462876 |AEME [osrzpaEREs [ HIXFY
3|14 128 40,500 422,376 SAEHE osrznarmass | BIRXFY
3] 14 129 18,212 404,164[R=HE| TREEAE |t 5 HBEIRERLEE (470-478)
3|22 130 4,800 399,364[AEHE| TREBAE |HABREHESHTIGAR)
3/ 26 131 45,035 354,329|sA=®R| SEIRIE JE—HKRGASR)
3] 27 132 5,016 349,313|sAEHE| SEEE A 3—yMERH (2R ) [BIEEEL(RAOL)
3| 28 133 4,700 344613[REHE| TRNEBAE |HEHBEHATIGCES)
3] 29 134 83,000 261,613|sAEHE [osrsnaERer |85 A YD)
4] 1 135 56,200 205413 |5A=8E varzaerse |85 CA D)
4] 5 136 311,520] A 106,107[sa&#%E| 6/LIRE 20244E E 7> 77— E S (ENRI£50.00040)
4] 5 137 309,320] A 415427[:EE#HE| 6LHE H=a21—X (FIRI+£25,000%) [(2118)
4 138 5016 A 420443|58E#%| SEIEE 13— yMERE BAS) [BIEEEL(RAOL)

4800012 4,848,514 #A%E
4,800,000 3Z{1%E
101.01% 4T




